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1.

4

“The world that most employees face tdday is one of
temporariness.* In the light of the above statement explain
the challenges of Organizational Behaviour.

15

Or

Explain the concept of Organizational Behaviour. What
is the contribution of Psychology and Sociology to the
field of organizational behaviour ?
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Distinguish between type ‘A’ and type ‘B’ personality.
Explain the suitability of personality type with different
types of jobs.
15
Or
Distinguish a group from a crowd. Why do people join

* groups ? Explain.
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Distinguish an “employee centered” leadership style from
“production centered” leadership style. What are the
characteristics of both the styles ?
15
Or
Distinguish between formal and informal communication.

Are they competitive 7 Explain their suitability.
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. Explain Fiedler’s situational theory of leadership.
' ' 15
Or ‘

{a) Distinguish between Job-enrichment and Job-
enlargement. '

(b) Explain the Need Hierarchy Model given by
Maslow.
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5. Write notes on any two :
(a) Errors in perception
(b) Carrot and Stick approach
(c) Motivation as the core of management

(d) Psychological barriers in communication
15
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